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Answer the following questions
Q1: Put (√) against correct phrases, (X) against the wrong ones and state all possible corrections for the wrong statements
1- The cell theory assume that the body is a big mass of fluid which has been divided by membranes to form cells.
2- The chromosome shape differs based on the position of the centrosome.
3- The electron microscope based on the excitation of electrons which are then magnified by glass lenses. 
4- Gene expression is on in Euochromatin because DNA is accessible.   
5- Because lipid is hydrophilic and pointed inside the membrane, it acts as a ceal to prevent the passage of water through the cell membrane. 
6- S phase in the cell cycle includes mainly the replication of the DNA. Thus this is the only stage where the cell could be 4n. 
7- Membranes of all membranous organelles (such as mitochondria, Golgi and Ribososmes) have similar structure to the cell membrane. 
8- Proteins are formed in the ER.
9- The secondary constriction of the chromosome helps is identified by it attachment to the spindle fibers.  
10- The non living components of the cytoplasm (inclusions) are primarily lipid, proteins and carbohydrates.      
Q2: Choose the best answer: 
1- The chromatid is an aggregation of 
A – chromatin fibers        b- chromosomes       c- Euochromatin          d- Nucleosomes
2- In pancreatic cells which produce insulin, if the secondary constriction of chromosome number 14, which is part of the nucleolus, has a break, this will more likely lead to
A- Inhibition of mitosis     B- Prevention of DNA Replication     C- Disturbances in protein synthesis           D- Reduction in glucose level in the blood
3- If some modifications happened to chromatin where it is no longer able to relax (to be Euochromatin). What of the following will be affected: 
A- Cell division
B- Gene expression
C- DNA Replication
D- All the above
4- During pregnancy, pregnant women are more likely to bleed from their uteri. This could be due to…. 
A- Injury in one of the blood vessels in the uterus
B- Detachment of the cells lining the uterus because they have week tight junctions 
C- Detachment of the cells lining the uterus because they have week desmosomes 

D- None of the above
5- The inner membrane of the mitochondria has numerous enfolding to increase the surface area of 
A- Absorption 

B- Electrons 

C- Electron transportation

D- ATP molecules
      
End of Questions

Best of Luck

D. Mohamed Kamal
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